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Christmas Addition

Solve the following word problems.

Santa has 5 red Christmas balls, 7 green Christmas
balls and 4 blue Christmas balls. How many
Christmas balls does Santa have in total?

Rudolph found 7 candy canes, Dasher found 7
candy canes and Prancer found 3 candy canes.
How many candy canes did they find in total?

On Christmas Eve, 4 children were singing carols, 5
children were making snowmen and 3 children
were decorating the Christmas tree. How many
children were there in total?

Mrs. Claus baked 6 gingerbread cookies, 7 sugar
cookies and 2 chocolate chip cookies. How many
cookies did she bake in total?

Santa delivered 7 presents to Timmy's house, 6
presents to Jenny's house and 3 presents to Billy's
house. How many presents did Santa deliver in
total?

There were 8 reindeer on the rooftop, 5 reindeer in
the stable and 1 reindeer in the field. How many
reindeer were there in total?

7 Santa has 6 red stockings, 7 green stockings and 2
blue stockings. How many stockings does Santa

‘ave in total?
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